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- Four pairs of socks cost €11. What will | pay for two pairs?
- What is the next term in this sequence: 1, 1:25, 1-5, ?
- The letters move in a clockwise direction. Fill in the

missing letters. AN TR/ T

A half of a million euro is €500,000. Write this amount in

\;VO!‘(%% (as thousands).
jo=700=_ |%

A mechanic earns €30 an hour. How much is he owed if he
started work on a car at 2.30 p.m. and finished at 5 p.m.?
What is 10% of €1.907 bk
A square has a perimeter of 60cm. What is the length
of one side? St

any grams in 1-5kg*
;' ?':ant‘l'ia:ggular number. gompleta the pattern to make the

triangular number 6. | _
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